SAP ABAP table /CEM/C ENT SUMTY {Assign Process Codes and Status to Buckets}

_CEM_C_DC_STATUS
/CEM/C_ENT_SUMTY-STATUS = /CEM/C_DC_STATUS-STATUS 0N APPLICATION [CHAR (4)]

== STATUS [CHAR (4)]

/ _CEM_C_PRGRM
APPLICATION [CHAR (4)]
EE PROGRAM [CHAR (2)]

_____________________________________ _CEM_C_PR_CODE

0=N _/CEM/C_ENT SUMTY-SUMMARY TYPE = /CEM/C_SUMTYP-SUMMARY TYPE 0..N |APPLICATION [CHAR (4)]

PROCESS CODE [CHAR (4)]

N _CEM_C_SUMTYP

-------------- CLIENT [CLNT (3)]

ENT STRATEGY [CHAR (2)]

SUMMARY_TYPE [CHAR (12)]




